Algebra 1 Review Sec 3-2 to 3-4

Solve each inequality and graph the solution.

1. 4.7+m > -13.6

3. —4x>42

5, —i3‘-p <20

Solve each inequality. Do not graph the solution.

7. 6+4a < -53

9. 11-3b+4-7b <20

1. 4-3Cm+5)+7>4m+8 - 10m

_ 1 _
13. 14 6vS 21

15. -5-8g < -16-6g

Fall 2013

2. 18.5>(0+38.9

4, 15 =L

6. -14> 1.

8 33>5-%

10. 8z+7-z>12+9z-3

12. 3k—11+2(k+4) < 5k+6(k-3)+15

14. 10y-6(y—-2)-123y+2(y-7)-y+1

16. 3c+13+2c—-1-5¢>7c+15-8¢
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1. m>-18.3 .‘ﬁ RE 1?;"'—'=S"—_’
— S—— : >

2. 0<-20.40r-204>0. = -20.4 -20
3. x<-10.5 Vﬁ A1 -10.5 -10 ’
4. w>-750r =75 <w 76 75 74
5 p>15 .‘ﬁ T 19%‘?_‘

—e— : >
6. c<-980r-98>c. 99 -98 -97
7.a<-11.750ra <-4 8. x<-112 or-112 > x
9. b>-0.50rb>-1 10. z<-lor-1>z
11. No solution 12. k>0o0r0<k
13. v>30 14. All Real Numbers

15. g>5.50rg> 4 16. c¢>3o0r3<c



